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$110-4 if-else FEA)RIHRE

main()

int gender;
float height, weight, stand_weight, over_weight;

printf(“please tell me your gender (male:1; female:0):\n");
scanf('%d", &gender);

printf('please input your height(cm) and weight(kg):\n");
scanf('%f %f", &l ght, &weight);

if (gender) stand_weight = (height - 100) * 0.90;
else stand_weight = (height - 100) * 0.85;

over_weight = weight / stand_weight - 1;

if (over_weight < 0.2) printf("'{

else if (over_weight < 0.3) printf(
else if (over_weight < 0.5) printf(
else printf(f FEAERE, TELEPURAE ! \n*

~ Switchi®E 4

$110-6 LAFRAEAHIW & AEIswitchiE4]

main()

float x, y;

char op; /* Xs YZ AT HARNNIEH K+, -, *
printf(input expression: "x°* "+, -, *, /®
scanf("'%f %c %f",&x, &op, &y);

switch(op)

case "+": printf("%f + %F = %F\n", y);break;
case intfC'%f - %f = %f\n", x, vy, y);break;
case : tf(C'%fF * %F = %F\n", X, vy, y);break;
case "/": printf("%f / %f %F\n", X, vy, y);break;
default: printf("input error\n’);
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% for (i=0; i<100;i++)
« for (i=100; i>=0;i-=2)
s for (i=0;;i+=2)
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$110-7 Hforiga)iHE1+2+3+ +100/91H

main()
{
int i, sum;
sum = 0;
for (i=1; i<=100; i++) sum += i;
printf("1+2+...+100 = %d\n", sum);

= Do-whilef&r

< do-whileiBa)SLBEH I 7 2N
do
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} while i<=100;
printf("1+2+...+4100 = %d\n", sum);

R While & 2R

% whileig4]:

while (FizR) EH / /B RABUT

< $110-9 Awhileida)i+HE1+2+3+......+100H{E
#include <stdio.h>

main(Q)

int i, sum;
i =sum = 0;
while (I <= 100)
{ -
sum += i;
i++;

}
printf("'1+2+...+100 = %d\n", sum);
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< l10-11 Bl SRR

main()
{
int i, j;
for (i=1; i<=9; i++)
{
for (J=1; j<=i; j++)
printf(” %d*%d=%d", i, j, i*j);
printf('"\n");
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“break #$J10-12
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